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Answer all questions.
Questions should be answered on the question paper itself. There are four (04) questions
and three(03) pages in this.question paper. : : :

01.  Given below include hoth true ani false statements. Indicate the true
statements by writing letter “T” and the false statements by writing letter
“F" in the gpace given against each statement.

i. A gene is a portion 6f DNA that carries the hereditary information.
o S e
ii. The energy requires to begin a reaction is called the activation energy.
iii. Peroxisomes contain different digestive enzymés t;apa!ile of digesting
macromolecules.

...............

iv. Glycolysis takes place in the matrix of mitochondria: |

................

v. Peptides are polyme.rs of ammo ac1ds .................
vi. Clostridium is an example for & symbmtlc n1trogen ﬁxmg bactenum
vii.

viii.
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In plant cells, spindle formation in metaphase is associated with centrioles,
Ribosomes are the sites of photorespiration in plants.
Hydrolysis of sucrose into glucose and fructose is an example for an anabolic

reaction. i

...............

Deoxyribose is the pentose sugar found in RNA. . "
UAA is one of the stop codons involved in protein synthesis. ...

Chromosomes are made up of nucleic acids and histone proteins. ... a

Fill in the blanks with suitable word/words.

A plant cell wall has three major parts; ............co.covvvoovonn... s ceereeererraessessrenrsenenneeans :
4 ¢ SO

In chromosomes, the units of ...................... proteins surrounded by DNA are

In Thermodynamics, & ........oveeeereveennnnn. is the part of the universe of interest and
the .o, .. includes everything else in the universe.
The bond between two amino acids is called a SO bouad and the

product formed is & v....ovuveeoereeceeenn.

Satviverassesnnanratrinansas
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Write a short answer for each of the following question in the space
provided.

What are the three (3) stop codons involve in protein synthesis?

...................................................

...................................................
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i. Saluraled fatty. acids

--------- Senssanaay LR L LT T Y PO
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2. ---------------- sttt rastataranna trertnneay LEE LY R
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1. Ribosomal RNA (tRNA)

ERAAL L L L,

Transfer RNA (IRNA)
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